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Note : The paper contains three Sections—A, B 

and C. Instruction are given in each 

Section along with marks. 

Section–A 

Note : Answer any two questions from this 

Section. 2×12=24 

1. What is an economy ? Explain an economy 

as a system of circular flows. 

2. What is budget price line ? Explain the 

equilibrium of a consumer with the help of 

indifference curve analysis. 



 [ 2 ]  ECO–06 

D–3212/ECO–06 

3. Explain the Law of Diminishing Marginal 

Utility and its limitations. 

4. What is the concept of elasticity of demand ? 

Explain price elasticity of demand and 

income elasticity of demand. 

Section–B 

Note : Answer any two questions from this 

Section. 2×8=16 

5. Explain the concept of elasticity of supply. 

6. What is market structure ? Explain the 

main features of monopolistic competition. 

7. Discuss the concept of money wages and real 

wages. How are competitive wage 

determined ? 

8. Explain the concept of consumer’s surplus. 

What are its limitations ? 

Section–C 

9. Write short notes on any two of the 

following :  2×5=10 

 (a) Equi-marginal Utility 

 (b) Perfect Competition 

 (c) Oligopoly 

 (d) Sources of Profits 
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 ECO–06 

Lukrd mikf/k dk;ZØe 

(ch- Mh- ih-) 

l=kar ijh{kk  

twu] 2025 

(,sfPNd ikB~;Øe % okf.kT;) 

bZ-lh-vks-&06 % vkfFkZd fl¼kUr 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % bl iz'u&i= eas ^d*] ^[k* vkSj ^x* rhu [k.M gSaA izR;sd 

[k.M esa vko';d funsZ'kksa ds lkFk vad fn, x, gSaA 

[k.M&d 

uksV % bl [k.M ls fdUgha nks iz'uksa ds mÙkj nhft,A 2×12=24 

1- vFkZO;oLFkk D;k gS\ orqZy izokgksa dh iz.kkyh ds :i esa 

vFkZO;oLFkk dh O;k[;k dhft,A 

2- ctV dher js[kk D;k gS\ vf/keku oØ fo'ys"k.k dh 

lgk;rk ls miHkksDrk ds lUrqyu dh O;k[;k dhft,A 
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3- Îkleku lhekar mi;ksfxrk fu;e vkSj mldh lhekvksa dh 

O;k[;k dhft,A 

4- ek¡x dh yksp dh vo/kkj.kk D;k gS\ ek¡x dh dher yksp 

vkSj ek¡x dh vk; yksp dh O;k[;k dhft,A 

[k.M&[k 

uksV % bl [k.M esa ls fdUgha nks iz'uksa ds mÙkj nhft,A 2×8=16 

5- iwfrZ dh yksp dh vo/kkj.kk dh O;k[;k dhft,A 

6- cktkj dk Lo:i D;k gS\ ,dkf/kdkjh izfr;ksfxrk dh 

eq[; fo'ks"krk,¡ crkb,A 

7- ekSfnzd etnwjh vkSj okLrfod etnwjh dh vo/kkj.kk dks 

le>kb,A izfr;ksxh etnwjh fdl izdkj fu/kkZfjr gksrh gS\ 

8- miHkksDrk vfrjsd dh fopkj/kkjk dk o.kZu dhft,A bldh 

lhek,¡ D;k gaS\ 

[k.M&x 

9- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

2×5=10 

 (d) lelhekar mi;ksfxrk 

 ([k) iw.kZ izfr;ksfxrk 

 (x) vYikf/kdkj 

 (?k) ykHkksa ds lzksr 

× × × × × 

 

 


